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1. The beam in Fig. 1 has pin and roller supports and is subjected to a 2-kN force. What are the

reactions at the supports? (20 points)
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Figure (1)

The frame in Fig. 2 is subjected to a 200 N-m couple. Determine the forces and couples on its

members. (20 points)
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Figure (2)

3. The beam in Fig. 3 is subjected to a "triangular" distributed load whose value at B is 100 N/m

Determine the reactions at A and B. (20 points)
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Figure (3)
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. Skt E U= i+2j-3k,V=2i+j+4k
a. £ |U+V|[+ (10 %)
b. £ |U+|V]e (10 %)

2. REATH=RARIEAERNG=AT MK
(3’ 2 s 0)9 (1: "1’ 0): (25 3: O) ¢ (20 /77\)

3. BamBU=i+2j-3k, WEV= i+2]
R a) @ EMH (crossproduct)y VxU (10 %)
b.) ¥ & (cross product) UxV (10 %)

4., R¥uFHs y'+4y +5y=0 2EE - (20 o)

5. R#aAs y'-4y=0 2@ - (20 %)





